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QID : 801 - Twenty one times of a positive number is less than its square by 100. The value of the positive number is

T UeATcHe FEAT &l SO 0T, 386 g1 § 100 FA § | 36 GdlcAD TE&AT BT AT @lom
Options:

1) 25

2) 26

3) 42

4) 41

Correct Answer: 25

Candidate Answer: 25

QID : 802 - Two pipes of length 1.5 m and 1.2 m are to be cut into equal pieces without leaving any extra length of pipes. The greatest length of the pipe pieces of
same size which can be cut from these two lengths will be

1.5 #1eT 30T 1.2 HIeX T & Ursul &l R’ gehsl # 38 TR el ST § o It arsul &l s Rewm AW & g et ursdl 3 & @AW 3THR & HIe S arel 37 gohal &l
3AFAR TS TABT?
Options:

1)0.13m

0.13

2)0.4m

0.4 Y

3)0.3m

0.3

4) 0.4l m

0.41 Y

Correct Answer: 0.3 m
0.3

Candidate Answer: 0.3 m
0.3

QID : 803 - A General of an Army wants to create a formation of square from 36562 army men. After arrangement, he found some army men remained unused.
Then the number of such army men remained unused was

Tl Qa1 & STeer 36562 AT & Ueh TR e TATAT Tledt & | < o Tl &hlel o a1 o Heieh ol 137 | 79 gu Afevent hr degm aoam A
Options:

1) 36

2) 65

3)81

4) 97
Correct Answer: 81
Candidate Answer: 36

QID : 804 - The smallest number, which should be added to 756896 so as to obtain a multiple of 11, is

I Ty oIl §E@d, {9 756896 3 Sz UX UM HEAT 11 & IO &, &

Options:
1)1
2)2
3)3
4)5
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Correct Answer: 3
Candidate Answer: 2

QID : 805 - A boy found the answer for the question "Subtract the sum of 1/4 and 1/5 from unity and express the answer in decimals" as 0.45. The percentage of
error in his answer was

T TSI, U4 "1/4 3T 1/5 & F9T 1 TF A ¥ geT HR IR REFAGT F & @ 3R 0.45 ST ¥ 38F 3R # 3 Hr afaadr aase?
Options:

1) (100/11) %

2) 50%

3) 10%

4) (200/11)%
Correct Answer: (200/11)%
Candidate Answer: 10%

QID : 806 - The product of two numbers is 48. If one number equals "The number of wings of a bird plus 2 times the number of fingers on your hand divided by the
number of wheels of a Tricycle". Then the other number is

21 HEATHT T IO 48 | SHA ¥ ARG Ueh H&AT Uep fAUTRT AIgTRhel & Ufedt & H&am §, e ualt & vl $ @ear 3 3maehy a1 6 3ot & §&41 &1 2 I1 6
N7 Y, HIT ST § UTH HEAT & aRRR & Al gAY HEAT 41 gaf?

Options:

1)9

2) 10

3) 12

4) 18
Correct Answer: 12
Candidate Answer: 12

QID : 807 - Natu and Buchku each have certain number of oranges. Natu says to Buchku,"If you give me 10 of your oranges, I will have twice the number of oranges
left with you". Buchku replies,"If you give me 10 of your oranges, I will have the same number of oranges as left with you". What is the number of oranges with Natu
and Buchku, respectively?

Ay 3R T TP H U FS Wl ¢ | AY TR W Pl &, "I JH 0 Hadl 3 F Fg¥ 10 Haw & & a1 GFeR I oI Haw A9 a9 8, ST g F AL a0
SG | Fag SR ST &,"ITE A A0 T A & {3 10 FAXE & df AY THF FA DT el FEAT @ AW S JFeR Ird AV & SAealt | A1y AR gag & arg A fhaa
HaRT Pr FE&aT gefr?

Options:

1) 50, 20

2) 70, 50

3) 20, 50

4) 50, 70

Correct Answer: 70, 50

Candidate Answer: 50, 70

QID : 808 -
A square playground measures1127.6164 sq. m. If a man walks

9
2 Em a minute, the time taken by him to walk one round

around it is approximately

Udh TNBR WA & HeH Bl &9%hd 1127.6164 T Hicl g1 T3
PIE I UE e & 2% M T 2 A S ST A Y
U URBHHT B3 H T [ §Hg T I?

Options:

1) 50.82 min
50.82 f&aTe
2) 54.82 min
54.82 fAee
3) 54.62 min
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54.62 T
4) 50.62 min
50.62 fAae

Correct Answer: 54.82 min
54.82 fiee

Candidate Answer: 50.82 min
50.82 f&ae

QID : 809 - Three electronic devices make a beep after every 48 sec, 72 sec and 108 sec respectively. They beeped together at 10 a.m. The time when they will next
make a beep together at the earliest is

AT gelarIfaie T Ui A 48 s, 72 s 31X 108 Hds & a6 aoidt & | T AT T A1 qaTee 10 IoF AT X & | T8 TAT TdAIE 1 I 39TelT IR TP FI Foior?
Options:

1) 10:07:12 hrs

10:07:12 Fr=7

2) 10:07:24 hrs

10:07:24 ot

3) 10:07:36 hrs

10:07:36 gt

4) 10:07:48 hrs

10:07:48 st

Correct Answer: 10:07:12 hrs
10:07:12 gt

Candidate Answer: 10:07:48 hrs
10:07:48 ot

QID : 810 - Two baskets together have 640 oranges. If (1/5)th of the oranges in the first basket be taken to the second basket. The number of oranges in the first
basket is

21 SFRAT H 640 X &1 AT Ueell Sl 3 | FAX T (1/5)-af AT G BT 3 ST T ST &l &l SRl 3 HART &l HEAT IR @1 SA0ai| Ugell Trepdl 3 FAl
&6 TEaT fohae &2

Options:

1) 800

2) 600

3) 400

4) 300
Correct Answer: 400
Candidate Answer: 400

QID : 811 - P can do (1/4)th of work in 10 days, Q can do 40% of work in 40 days and R can do (1/3)rd of work in 13 days. Who will complete the work first?

P, 10 &t 3 SR T (1/4)-aT 19T QRT IR Tehell &1 Q, 40 AT 3F RY &T 40% 19T QRT IR TehelT & 3R R, 13 AT 3 Y &t (1/3)-a¥ #1197 QRT IR Tl & | TIX Uged PeA
Ig PR AT P

Options:

1)P

2)Q

3)R

4) Both P and R

P 3T R &=t

Correct Answer: R
Candidate Answer: R

QID : 812 - Working 7 hours in a day, 4 men can do a piece of work in 8 days. Working 8 hours in a day, the required number of men to perform the same work in 4
days will be

T oA # 7 € R a W 4 g Rorel & ot 8 ot F qu e Fahet ¥1 8 wie ufaifeet & ol gU R Rl 3@ ol bt g et & frw iy earfehat o atmareear
awfr ?

Options:

1)8

2)4

3)7
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4)9
Correct Answer: 7
Candidate Answer: 7

QID : 813 - 35 persons are engaged to complete a work in 60 days. After 32 days it is observed that only (2/5)th part of the work has been done. The number of
persons to be engaged to complete the remaining work in the said period is

el T @Y 60 et I QU e & forw 35 el ol oTommT ST & | 32 AT & a1 udT IerdT § foR SR & dhaet (2/5)-at T & G & U §1 AW R &l 33 3afy A g
A P forw fraar cafhal fr 3masgear gref?

Options:

1) 20

2) 35

3)30

4) 25
Correct Answer: 25
Candidate Answer: 25

QID : 814 - The time taken by 4 men to complete a job is double the time taken by 5 children to complete the same job. Each man is twice as fast as a woman. How
long will 12 men, 10 children and 8 women take to complete a job, given that a child would finish the job in 20 days.

5 gl @t el I &l QU e A S AT AT § SHY GINAT GAI SHHN B &l QU et H 4 TRUT Bl AT & | Uedeh G AT P Joralr 3 gareh arfer & o eear &
| 36 PR P QU B & TorT 12 g&ui, 10 gt 3R 8 AR &t ot qarg rorem, afg a5 A foram Sw 76 ues arean I S 20 &t 7 g avam|

Options:
1) 4 Days

4 e

2)

v

3) 2 Days

2 e

4) 1 Day

1fea

Correct Answer: 1 Day
17

Candidate Answer: 2 Days
PALCH

QID: 815 -

The labourers A, B, C were given a contract of Rs 750 for doing
a certain piece of work. All the three together can finish the
workin 8 days. A and Ctogether can do itin 12 day, while A

1
and B together can do itin 13§ days. The money will be

divided in the ratio

I Y81 A, B, C DI ddb R 750 & WR [ &1 DI R A
& foTe T T | 3 et < e sa & & g feq & g
P UBA 8l A MR ¢ aFI fHaH U 12 & 7, oiafd A 3R B

ERIIENERES] 13% [T H QIR gabd & | HeTdT ol WA
! fog araqara ® fawiord faarsmaem 2

Options:
1) 4:5:6

2) 4:7:5
3)5:7:4
4)5:6:8
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Correct Answer: 4:5:6
Candidate Answer: 4:5:6

QID : 816 - A and B together can complete a piece of work in 12 days. They worked together for 5 days and then A alone finished the rest work in 14 days. A alone
can complete the work in

A 3R B uah G1Y reraw [T a1 1 12 &l 3 QU ot T & | Soeled Ueh A1 5 &t doh d fomam 3R T A & 31hel & QW &1 14 &t 3 Tam a §aml A 3rperr I8
Goo F QU T FhdT &

Options:
1) 24 days

24 e

2) 22 days

2 e

3) 20 days

20 &=

4) 18 days

18 feeT

Correct Answer: 24 days
24 e

Candidate Answer: 24 days
24 e

QID : 817 - A shopkeeper offers 15% discount on all plastic toys. He offers a further discount of 4% on the reduced price to those customers who pay cash. What
does a customer have to pay (in Rs) in case for a toy of Rs 200?

Teh GehlTaR Jelliece & G f&rellal O 15% & g el &1 I 31 ATeeh! &l 3R 4% T ge T & S HAehey AT il &1 T 200 & & el & ford veh armees 1 feverelt
e TR (& 3) Sehr awafr?

Options:
1) 133.7

2)129.8
3) 163.2

4) 153.3
Correct Answer: 163.2
Candidate Answer: 163.2

QID : 818 - A photographer allows a discount of 10% on the advertised price of a camera. The price (in Rs) that must be marked on the camera, which cost him Rs
600, to make a profit of 20% would be

Teh BIITHY HAY & AT Hed T 10% FT T &1 20% 1 UTH X & fIT 600 & Hr AT aret X & forw fedar Hor (v #) 3ifha v s anfge?

Options:
1) 650

2) 800
3) 700

4) 850
Correct Answer: 800
Candidate Answer: 800

QID : 819 - A dinner set is quoted for Rs 1500. A customer pays Rs 1173 for it. If the customer got a series of two discounts and the rate of first discount is 15%
then the rate of second discount was,

Teh AT #e & {1500 & 3Hfhcd AT ST &1 IMeeh 38 TorT 1173 § 36T T &1 AT ATEeh T A H &1 9¢ &1 e & 3 T & UAA &I 15% & o ge hr g@ir &
fopae o

Options:
1) 15%

2) 7%
3) 9%

4) 8%
Correct Answer: 8%

http://thepracticetest.in/csdecjam7/resd&uéb\_k1 lﬁabﬁimdle(_) H@MRI&W&&MdMﬂWWS@@M&d@&BSSA lert.In 5/30



1/24/2017 Download More PaperstaffsesationcommisionovtJobsAlert.In
Candidate Answer: 8%

QID : 820 - A dishonest dealer defrauds to the extent of x % in buying as well as selling his goods by using faulty weight. What will be the gain percent on his outlay?

T ISHATA TATIRY T STET BT YART I AT TEGIHAT T 3 3R FIhT X TAT AT IR X % AP TSATAT T & | SHDT RIS U T A1 Ui T gm?

Options:
1) 2x %
2)

(2 1)

3)
L
4)
2
X 1o
(“100 %

Correct Answer:

L

Candidate Answer:

L

QID : 821 - In a college union, there are 48 students. The ratio of the number of boys to the number of girls is 5:3. The number of girls to be added in the union, so
that the number of boys to girls in 6:5 is

TS Sierat JiAa & faanfiat Hr dwar 48 §, aswi 3R asfrat 6 T&am 7 31gura 5:3 ¥1 58 gfAaa # frde asfeal & G&ar g ae fF asd 3R asfai o
3UT 6:5 & ST

Options:

1)6

2)7

3)12

4) 17
Correct Answer: 7
Candidate Answer: 7

QID : 822 - There are three bottles of mixture of syrup and water of ratios 2:3, 3:4 and 7:5. 10 Litres of first and 21 Litres of second bottles are taken. How much
quantity from third bottle is to be taken so that final mixture from three bottles will be of ratios 1:1.

2:3, 3:4 31X 7:5 & 37urdl & AT 3 a1l & FE=07 &l Sl dicrell # 7@r I &1 Teell dice # A 10 #eX 3R g@dl aie # @ 21 #fex f@rsor forar siar 1 39 dadr
ader # A fora A 7 fAsor o forar S forad 6 Nt alaelt @ foram i sfeqa fAsor 1:1 & 3requra # @2
Options:

1) 25 Litres

25 i

2) 20 Litres

20 ofiex

3) 35 Litres

35 ofiecY

4) 30 Litres

30 ofiex

Correct Answer: 30 Litres

30 oflex

Candidate Answer: 30 Litres

30 ofleT

QID : 823 - In a colored picture of blue and yellow color, blue and yellow color is used in the ratio of 4:3 respectively. If in upper half, blue : yellow is 2:3, then in the
lower half blue : yellow is

e frer 3R dier 37 & R 3 Arer 3 dier 107 &7 921er 4:3 & 3gurd F AN TR ST &1 IS IO Rewq@ A et 3R ey o1 @7 1o 2:3 a0 E O e Rew &
et : et frE 31eurer 3 aerm?

Options:
1)1:1

2)2:1
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3)26:9

4)9:26
Correct Answer: 26 : 9
Candidate Answer: 2 : 1

QID : 824 - A and B start an enterprise together, with A as active partner. A invests Rs 4000 and Rs 2000 more after 8 months. B invests Rs 5000 and withdraws Rs
2000 after 9 months. Being the active partner, A takes Rs 100 per month as allowance, from the profit. What is the share of B if the profit for the year is Rs 6700?

A 3R B gt fATaT e 33 Y o & st A afhg AR & 9 3 SR o 1 A $8H 4000 F T AL AT & 3R 8 AD arg R 2000 & FAder ¥ ¥ B gHat
5000 & AL T & AheT 9 AL a1e 3G ¥ 2000 & f¥ehlet T ¥ ARHT HNER Bt & A1 A o1 & & 910 & &0 3 oA 100 & oar &1 afe ad & 6700 & &7 orey
3T & &l B &1 AIT o4 A9TT?

Options:

1) Rs 3350

3350 &

2) Rs 3250

3250 ®

3) Rs 2700

2700 ®

4) Rs 2800

2800 ®

Correct Answer: Rs 2700

2700 ®

Candidate Answer: Rs 2700

2700 ®

QID : 825 - A sum of Rs 15525 is divided among Sunil, Anil and Jamil such that if Rs 22, Rs 35 and Rs 48 be diminished from their shares respectively, their
remaining sums shall be in the ratio 7:10:13. What would have been the ratio of their sums if Rs 16, Rs 77 and Rs 37 respectively were added to their original
shares?

15525 & & AR Feirer, 3l 3R Foe & @ 50 a6 ¥ AT & e & 6 7S 37 EqT 7 & M 22 F, 35 F, 3R 48 T a1 o fed AT aY 370y QW Yy
7:10:13 3 AU F & AW| TG 3Ab HT Al H HAM: 16 F, 77 & 3R 37 T A5 GU A § A SeAehT TR 7 310 T TeT 219?

Options:
1) 9:13:17

2) 18:26:35
3) 36:52:67

4) None of these

aH A B G

Correct Answer: 36:52:67
Candidate Answer: None of these

S | P T

QID : 826 - A's income is Rs 140 more than B's income and C's income is Rs 80 more than D's. If the ratio of A's and C's income is 2:3 and the ratio of B's and D's
income is 1:2, then the incomes of A, B, C and D are respectively

A &Y 3T B &Y Jorelt H 140 & 311k § 31 C 61 31131 D & Joratr 3 80 & 31f%eh #1 e A 31 C & 3m o 31eguret 2:3 ¥ 721 B 3R D 1 310 1 Jequr 1:22 ¥ ATA, B, C
311X D fr 3 paren: el

Options:

1) Rs 260, Rs 120, Rs 320 and Rs 240

260 F, 120 F, 320 31T 240 &

2) Rs 300, Rs 160, Rs 600 and Rs 520

300 &, 160 ¥, 600 & 3{T 520 ¥

3) Rs 400, Rs 260, Rs 600 and Rs 520

400 &, 260 &, 600 ¥ 31X 520 &

4) Rs 320, Rs 180, Rs 480 and Rs 360

320 & 180 ¥, 480 ® 31T 360 &

Correct Answer: Rs 400, Rs 260, Rs 600 and Rs 520
400 ¥, 260 &, 600 & 31X 520 &

Candidate Answer: Rs 320, Rs 180, Rs 480 and Rs 360
320 &, 180 ¥, 480 ®3iT 360 &

QID : 827 - A batsman has a certain average of runs for 12 innings. In the 13th inning he scores 96 runs thereby increasing his average by 5 runs. What will be his
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average after 13th inning?

e Tererarst & 12 Ukt &1 ves Afra siraa &1 13-4 or 3 ag 96 I garar & A g 39 3ad 3 5 T B gfig @ Siet &1 13- orly & arg s5e tad g
aum

Options:

1) 28

2)32

3)36

4) 42
Correct Answer: 36
Candidate Answer: 36

QID : 828 - A team of 8 persons joins in a shooting competition. The best marksman scored 85 points. If he had scored 92 points, the average score for the team
would have been 84. The number of points the team scored was

8 bl &1 Teh Gl YFEIT UTTANRNAT 3 AT of T & FaTdar erd! &l 85 31 Herdt &1 AT 381 92 37 UTd AT Bt &t 36 g &1 JHrad &P 84 & AAT| 38 Gl &RT UTH
fopT 91T 31 TABTI

Options:

1) 672

2) 665

3) 645

4) 588
Correct Answer: 665
Candidate Answer: 665

QID : 829 - A librarian purchased 60 story books for his library. But he found that he could get 4 extra books by spending Rs 336 more and then the overall average
price per book would be reduced by Re 1. The previous average price of each book was

T QEARIEIET 0 JEIHIAT & fIT 60 FHeredl 1 Gxdd @IadT &1 fhed 38 A1 el & 6 afe 9% 336 & 31X @ aear & a9 4 3faRed g 57 o gt & 3R
T A O Ufd QEds B @Ay 3T FAT 1 F B 8 S| Ul Qe D Uoel Pl 3T AT aqisu|
Options:

1) Rs 84

84 %

2) Rs 83

83F

3) Rs 68

68 &

4) Rs 100

100 ®

Correct Answer: Rs 100

100 &

Candidate Answer: Rs 84

84 %

QID : 830 - In an exam, the avarage marks obtained by John in English, Maths, Hindi and Drawing were 50. His average marks in Maths, Science, Social Studies and
Craft were 70. If the average marks in all seven subjects is 58, his score in maths was

T UET H, S &F 33, a0, By 3R o 3 3 urq@ies 50 1 38E 0, e, SHATS-TA aur e # 3aa uradie 70 3| 31 St & @ 7 fwai &
UTqienl &1 3T 58 TeT &, &Y IO & Ureieh foheter 92

Options:

1) 50

2) 52

3) 60

4) 74

Correct Answer: 74
Candidate Answer: 74

QID : 831 - The average weight of 3 men A, B and C is 84 Kg. Another man D joins the group and the average now becomes 80 Kg. If another man E whose weight
is 3 Kg more than that of D, replaces A then the average weight of B, C, D and E becomes 79 Kg. What is the weight of A?

et qafes A, B 31T C @1 3itad 7R 84 fahettanat €1 Teh 3R aafes D #ft anfdrer & Smar € 31 3t 91R 80 freitanar & St ®1 afg vah 3R el E e o D& e
el STATET & T8 A B AAAATRA T & ar B, C, D 3R E &7 3i0a HR 79 Fraianet g a1 A &1 3R a1 @19m?
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Options:
1) 70 kg
70 for.am.
2) 72 kg
72 ..
3) 75 Kg
75 fom.am.
4) 80 Kg
80 fep.am.
Correct Answer: 75 Kg
75 fem.am.

Candidate Answer: 75 Kg
75 fom.am.

QID : 832 - The average monthly salary of all the employees in a factory is Rs 8840. If the average salary of all the officers is Rs 15000 and that of the remaining
employees is Rs 8000, then what is the percentage of the officers among the employees?

e thepedl 7 TofY FwaTania or 3irad a7 8840 ¥ &1 Ife AT ATAIRAT o1 3iFad daa 15000 € & 3R AW FHATRAT o AT daa 8000 & § aF HAARAT
AR T IS fheTaTm &2

Options:
1)

1= A

2)

L

3)
81
3

4)

(" ]
Correct Answer:

L
Candidate Answer:

L
QID : 833 - The ratio of cost price and selling price of an article is 20:21. Then gain percent on it is

e a¥g & PTd {ed 3R Faha g & HgUE 20:21 ¥ 38 W UTH S aTel o giderd aqs|
Options:

1)

Lo

2)5

3)6

4)

L

Correct Answer: 5

Candidate Answer: 5

QID : 834 - The ratio of cost price and selling price 25:26. The percent of profit will be

AT HAT 3 FAHT FHTT T 3equTel 25:26 ¥ 1 FATD b1 ufdre @am

Options:
1) 26%

2) 25%
3) 1%

4) 4%
Correct Answer: 4%
Candidate Answer: 4%

QID : 835 - A shopkeeper buys a product of Rs 150 per Kg. 15% of product was damaged. At what price (per Kg) should he sell the remaining so as to earn a profit
of 20%?
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Teh gahTeieR 150 & Ufct fpell a1y 61 aX & Ueh e TledT ¢ 3803 ¥ 15% a6 A€ & 15| 20% 1T T8 &hdel & frw 38 AW o e oA (ufer fvelt amar) ox el
fRw?

Options:

1)

L

2)

Rs. 20722
kT

13
207 - &
17

3)

L

4)

R 21113
5. 17

13
211 - &=
1

Correct Answer:

R 21113
8. 17

13
211—"%
17

Candidate Answer:

L

QID : 836 - Mr. Kapur purchased two toy cycles for Rs 750 each. He sold these cycles, gaining 6% on one and losing 4% on the other. The gain or loss percent in the
whole transaction is

e @y & fareiar asfre @died ¥, ucde & ferd 750 € &1 T 57 TEfnd A 39 & ¥, T ASReet F 6% H & F 7 P § TaiE gud ASihe W 4% eI §
eIy ereh ¥ | Tt | 3 oy A ey o ufaud e ¥
Options:

1) 1% loss

1% @i

2) 1% gain

1% <17

3) 1.5% loss

1.5% @fer

4) 1.5 gain

1.5% SITH

Correct Answer: 1% gain

1% <17

Candidate Answer: 1% loss

1% &Iy

QID : 837 - The profit earned by a shopkeeper by selling a bucket at a gain of 8% is Rs 28 more than when he sells it at a loss of 8%. The cost price (in Rupees) of
the bucket is

Tl GEhTeTeR ERT Teh dTed) T 8% & AT UX ATl TR 8% Y BIfet o Fepraet 28 & 31eh ferar T areldy & wmret ayera (vut ) g gt

Options:

1) 170

2) 190

3) 175

4) 165

Correct Answer: 175

Candidate Answer: 175

QID : 838 - A man bought 500 metres of electronic wire at 50 paise per metre. He sold 50% of it at a profit of 5%. At what percent should he sell the remainder so
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as to gain 10% on the whole transaction?

Teh gahTeleR o 50 3 ufd afiex it &7 a¥ 500 Hiex soterericien aiy @Y 30 SHA § 50% 1T 5% & o1 T 1| FFYOT e W 10 % 137 o1 it & forw 38 AW
T2 solFeifas air @ feda ufdera @t R S anfee)

Options:
1) 13%

2) 12.5%
3) 15%

4) 20%
Correct Answer: 13%
Candidate Answer: 15%

QID : 839 - A line of length 1.5 metres was measured as 1.55 metres by mistake. What will be the value of error percent?

1.5 #HIeX FFdT Teh oSl @l Ielcll A 1.55 e A1AT 3141| - UfALre i AT a=am gem?

Options:
1) 0.05%

2)

3 o
I

3)

L

4) 0.5%
Correct Answer:

L
Candidate Answer:

3 o
I

QID : 840 - A businessman imported Laptops, worth Rs 210000, Mobile phones worth Rs 100000 and Television sets worth Rs 150000. He had to pay 10% duty on
laptops, 8% on Phones and 5% on Television sets as a special case. How much total duty (in Rupees) he had to pay on all items as per above details?

T SIURT & 210000 & & oUeid , 100000 € & ATSeT B 3R 150000 & & elifastar dc 3mard | 38 AT A & T & Iueiy U 10 %, BT W 8% 3R adt v
5% SIET 3T AT UST | 36 U [T HFaR G aEg31 & forg Rec=T SYE (FIAT ) T HITATT XA aian?

Options:
1) 36500

2) 37000
3) 37250

4) 37500
Correct Answer: 36500
Candidate Answer: 36500

QID: 841 -

1
A man spend 75% of his money and after spending 75% of the
remaining, he had Rs 370 left. How much money did he have

Ud Al 7 S IR @ ?%%@?iaﬂﬁmaﬁ?fﬂmﬁlﬁﬁ%@i
T & 916 39D UM 370 & 99 T | IHP U (a1 e i 2

Options:
1) 1200

2) 1600

3) 1500
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4) 1400
Correct Answer: 1600
Candidate Answer: 1600

QID : 842 - On a certain date, Pakistan has a success rate of 60% against India in all the ODIs played between the two countries. They lost the next 30 ODIs in a row
to India and their success rate comes down to 30%. The total number of ODIs played between the two countries is

T AR T OX 2 &Rl & i Wet 1T HafY vep fearey H=ii 3 wifehearet i 7R & Aol FhAT &X 60% &1 HRA § 3097l 30 Teh feaeiar =l & FIdAR &R a0
3R 3T Ferdr &X R & 30% & TS| 1 &= & 1T Wt 970 v fgaelir #4t i o F&am aarsy|

Options:

1) 50

2) 45

3) 60

4) 30
Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]

QID : 843 - Two donkeys are standing 400 meters apart. First donkey can run at a speed of 3 m/sec and the second can run at 2 m/sec. If two donkeys run towards
each other after how much time (in sec) will they bump into each other?

2l 79 Teh-g@R A 400 HeX B gl I WS ¥ | Uger 141 3 He/AHuTE &Y AT F 3R q@ 71T 2 Y/ QB0 Y AT F HIET Fehell | AT AT 7Y Teh @ dr 3T WIS §
At fohdel FAT (FH0E ) & I8 I TH-GAX § THATI?

Options:
1) 60

2) 80
3) 400

4) 40
Correct Answer: 80
Candidate Answer: 80

QID : 844 - Rubi goes to a multiplex at the speed of 3 km/hr to see a movie and reaches 5 minutes late. If she travels at the speed of 4 Km/hr she reaches 5 minutes
early. Then the distance of the multiplex from her starting point is

&t 3 fop. 3. /ee i arfr & fonelt arfoecaray & Mo awat & forw sell & 3 @ 5 frae A &8 & ugach ®1 afe ae 4 fh.af./ae & 71fd & o € a g 5 e sedr
TEE S ¥ A 30 YRS T § Afcetday B gl adizu?
Options:

1) 2 km

2 fop.aft.

2) 5 km

5 fop.afT.

3)2m

2 :HleX

4)5m

5 #Hlex

Correct Answer: 2 km

2 fop.aft.

Candidate Answer: 2 km

2 fop.afT.

QID : 845 - A man travels some distance at a speed of 12 km/hr and returns at a speed of 9 km/hr. If the total time taken by him is 2 hrs 20 min, the distance is

Teh &g 12 .Y /6e &Y 2ol @ $© gt a7 T © 3N ag 9 .3l /6 i e @ auw 1ar 1 IS 30 58 TF A A $el 2 19 20 RAC B AT F9AT R A gl
ERicdl

Options:

1) 35 Km

35 fop.aft.

2) 21 Km

21 fop.af

3) 9 Km

9 .ot
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4) 12 Km
12 fa. 3.

Correct Answer: 12 Km
12 fop.a.

Candidate Answer: 12 Km
12 fop..

QID : 846 - A and B are 15 kms apart and when travelling towards each other meet after half an hour whereas they meet two and a half hours later if they travel in
the same direction. The faster of the two travels at the speed of

A 3R B 15 foR.#fT. &1 gl 0X &1 3 Teh g@Y & 3T Teleht 39 &2 I1e; el STt &, Aot Tep & &R0 3 =it gU 21 6 a1e; el Ut ¥ | Teef R 3e7a1 ol Telat arel &1 It
qaEy|
Options:

1) 15 km/hr
15 . afY./ger
2) 18 km/hr
18 fop.afY. /e
3) 10 km/hr
10 .3 /ger
4) 8 km/hr

8 .. /ger

Correct Answer: 18 km/hr
18 fop. 3. /eer

Candidate Answer: 18 km/hr
18 fop.aft. /ger

QID : 847 - The sum for 2 years gives a compound interest of Rs 3225 at 15% rate. Then sum is

Rl gaf oY 2 9§ & fAT 15% & ex WX Tohaty saTer 3225 & fAerar &1 e Uiy = i

Options:
1) 10000

2) 20000
3) 15000

4) 32250
Correct Answer: 10000
Candidate Answer: 10000

QID : 848 - In 3 years Rs 3000 amounts to Rs 3993 at x% compound interest, compounded annually. The value of x is

s ¥ 3 TNHT 3000 F A AR x% ThgTG <A X WX 3 T§ 3 3993 F & S & | X BT AT IAST|

Options:
1) 10

2)8
3)5

4)
1
g
3

Correct Answer: 10
Candidate Answer: 10

QID : 849 - A man borrowed some money and agreed to pay-off by paying Rs 3150 at the end of the 1st year and Rs 4410 at the end of the 2nd year. If the rate of
compound interest is 5% per annum, then the sum is

T qAfh $o B TH AT W 3UR AT & 7 a8 U a¥ & 3ed A 3150 & arfird i R gav a¥ & 31ed 7 4410 & | IS whqfe qarer i a1fiies & 5% & o iy @
T TATE?

Options:
1) Rs 5000
5000

2) Rs 6500
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6500 ®
3) Rs 7000
7000 ®
4) Rs 9200
9200 ®
Correct Answer: Rs 7000
7000 ®
Candidate Answer: Rs 7000
7000 ®

QID : 850 - Rs 260200 is divided between Ram and Shyam so that the amount that Ram receives in 3 years is the same as that Shyam receives in 6 years. If the
interest is compounded annually at the rate of 4% per annum then Ram's share is

260200 & &1 TR T 31X I & T 59 axE FAHSd H S & 6 T B T aul F aEr qaiy urg & St A1 o aul F urg e 59 R Ul av s3arer 4% arite
R T TAfSa @ar &1 [ @ Rewr (IR) FdEv|

Options:

1) 125000

2) 135200

3) 152000

4) 108200
Correct Answer: 135200
Candidate Answer: 135200

QID : 851 - The radii of two cylinders are in the ratio 2:3 and their heights are in the ratio 5:3. The ratio of their volumes is

2 dera dhr a3 &1 Iurd 2:3 ¥ 3R 3 ST T U 5:3 ¥ 3% I Bl HJI Ty
Options:
1) 27:20

2) 20:27
3) 4:9

4) 9:4
Correct Answer: 20:27
Candidate Answer: 20:27

QID : 852 - Three cubes of iron whose edges are 6cm, 8cm and 10cm respectively are melted and formed into a single cube. The edge of the new cube formed is

el &% & g1 & i fhar sharar: 6 .., 8 T, 31X 10 T2l 1 37n TR Teh TeT =TT IR0 §| IR T 310 38 AT 67 &l fhaIRT a8y |
Options:

1) 12.cm

12 9.4

2) 14 cm

14 7.3,

3) 16 cm

16 &3,

4) 18 cm

18 @

Correct Answer: 12 cm
12 &3,

Candidate Answer: 12 cm
12 9.4

QID : 853 - The radii of two concentric circles are 68 cm and 22 cm. The area of the closed figure bounded by the boundaries of the circles is

&1 Hdheg; gt & FIsamd 68 &0, 31 22 &.0. 1 51 gt & uRENsit grr ufkerg & 718 @ 3gfa 1 S aasu|

Options:

1) 4140n sqg.cm.
4140n gt @30,
2) 4110n sq.cm.
4110n g9t {7,
3) 4080n sq.cm.
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4080n a3t &30,
4) 4050n sq.cm.
4050n g9t |,

Correct Answer: 4140n sq.cm.
4140n a9t {3,

Candidate Answer: 4140n sq.cm.
4140n a7 {4,

QID : 854 - The radius of a sphere is 6 cm. It is melted and drawn into a wire of radius 0.2 cm. The length of the wire is

T TeAeh Y T 6 A3, ¥ 30 Waar & 0.2 .34, F3am arell T IR 918 TS| 38 dR A T3S ad1sT|
Options:

1)81m

81 T

2)80m

80 .

3)75m

75 #.

4)72m

72 &

Correct Answer: 72 m
72 #.

Candidate Answer: 72 m
72 #.

QID : 855 - The radius of a wire is decreased to one-third. If volume remains the same, length will increase by

T dR & B &1 ger a vah-faes a Gar = €1 afg 33 3mada e e & & a1 3 oears 3 fohder gfig @efh

Options:
1) 1.5 times

1.5 7o
2) 3 times

3 o
3) 6 times

6 o

4) 9 times

9 agom

Correct Answer: 9 times

9 o

Candidate Answer: 9 times

9 o

QID : 856 - In a trapezium ABCD, AB and DC are parallel sides and 2 ADC = 90°. If AB = 15 cm, CD = 40 cm and diagonal AC = 41 cm. Then the area of the

trapezium ABCD is

ueh FHed (FAfSrger) 3 AB 31X DC HaeR Rhar & 31X 2 ADC = 90° ¥| aIfg AB = 15 &.#T., CD = 40 .37, 31 Riepvt AC = 41 A.37. ¥, & 50 Fareia ABCD T &1Iwhel

aT|
Options:

1) 245 cm?
245 §.71.2

2) 240 cm?
240 ¥.31.2
3) 247.5 cm?
247.5 @.3M.2
4) 250 cm?
250 3312

Correct Answer: 247.5 cm?
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247.5 .72

Candidate Answer: 247.5 cm?
247.5 4.#0.2

QID : 857 - The area of a rhombus having one side 10 cm and one diagonal 12 cm is

T FHAGHST T U fhART 10 T3, 3R wer Repot 12 9.7, &1 38 TATGHST 7 a9Fel TaABTI
Options:

1) 48 cm?

48 9.2

2) 96 cm?

96 A2

3) 144 cm?

144 9,302

4) 192 cm?

192 @512

Correct Answer: 96 cm?
96 4.2

Candidate Answer: 96 cm?
96 A.#1.2

QID : 858 - The cost of levelling a circular field at 50 Paise per square metre is Rs 7700. The cost (in Rs) of putting up a fence all round it at Rs 1.20 per meter is (
Use n = 22/7)

T JATHR AT d AT el T eI 50 T ot FHex H ex & 7700 F 317 &1 36 ART 3R I8 AINA hl AT 1.20 F yfer #Hlex & a3 & &= 3mwef| (waer i n
=22/7)

Options:

1) Rs 132

132 ®

2) Rs 264

264 &

3) Rs 528

528 ®

4) Rs 1056

1056 §

Correct Answer: Rs 528
528 ®

Candidate Answer: Rs 264
264 &

QID : 859 - From the four corners of a rectangular sheet of dimensions 25 cm x 20 cm, square of side 2 cm is cut off from four corners and a box is made. The
volume of the box is

25 {30, x 20 A3 R (s X e arch veh IAAHR e F AR Faar &, 37 F 2 F.#). 9o arelr g9t IRT fFaART & wie F T i JAIT IAT & | 3 id BT
IS IART|
Options:

1) 828 cm?
828 ¥.41.3

2) 672 cm?3
672 @73

3) 500 cm?3
500 §.31.3

4) 1000 cm3
1000 A.#1.3

Correct Answer: 672 cm3
672 Q.33

Candidate Answer: 672 cm3
672 Q.33

QID : 860 - The height and the total surface area of a right circular cylinder are 4 cm and 8n sq.cm. respectively. The radius of the base of cylinder is
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T JIga I B FA1% 3R T GET aTwe w4 J.AT. 3T 8n a9t 4., §1 39 d9a & 3TUR & B aaE)
Options:

1) (2v2-2)cm

(2v2-2) 3.

2)(2-vV2)cm

(2-v2) 3.

3)2cm

2.5

4) V2 cm

V2 @,

Correct Answer: (2v2 - 2) cm
(2v2-2)a.a.

Candidate Answer: (2 - v2) cm
(2-v2) T

QID : 861 - The radius of a cylindrical milk container is half its height and surface area of the inner part is 616 sq.cm. The amount of milk that the container can hold,
approximately, is [ Use : V5 =2.23 and n = 22/7 ]

Teh AAATHR GU & U &Y FHoam 38 Farg & e § 3R 3reigeett 9197 &1 g1 &¥her 616 a3t {301, ¥1 58 ur 3 g1 oY ofare7ar Rbeiel AT 31 Fevell §, Famsw| [ g
P V5=2233Rn=22/7]
Options:

1) 1.42 litres

1.42 e

2) 1.53 litres

1.53 &fiex

3) 1.71 litres

1.71 X

4) 1.82 litres

1.82 &flex

Correct Answer: 1.53 litres

1.53 #flex
Candidate Answer: [ NOT ANSWERED ]

QID : 862 - A solid brass sphere of radius 2.1 dm is converted into a right circular cylindrical rod of length 7cm. The ratio of total surface areas of the rod to the
sphere is

52T 2.1 SHEHIER F T o1 diad & el @ 7 J.HT, T3 T o d gl TAARPR QAATH (I/3) TATS s | 3H ACATH JAT Ml & Fool GBI STAG Pl HFUTT IAST|
Options:

1)3:1

2)1:3

3)7:3

4) 3:7
Correct Answer: 7:3
Candidate Answer: 7:3

QID : 863 - The sum of the length and breadth of a rectangle is 6 cm. A square is constructed such that one of its sides is equal to a diagonal of the rectangle. If the
ratio of areas of the square and rectangle is 5 : 2, the area of the square in cm? is

T 31T P AHATS AT AISTS ST AT 6 V.Y, §| Th TH g7 Y TTAT &Y 75 & ToTaeh! U ST 1A & Th Tah0T & SRR & | AT I9T AT 373 & 819l 5 1 2 & 3gard
3 &, oY Qa2 o ot & eraher @ @RI

Options:
1) 20

2) 10

3)

4+/5

4)

1042

Correct Answer: 20
Candidate Answer: 20
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QID : 864 - The length of a side of an equilateral triangle is 8 cm. The area of the region lying between the circum circle and the incircle of the triangle is (use: n =
22/7)

Teh HHETG TABI0T & YT T THaS 8 AT &1 FehIoT & 37eicieet AR IR & g TR & &1 &l HAT E? (TAIT B & n = 22/7)

Options:
1)

1
50—cm?
7
1
50 T

2)

2
50—cm?

4)

2
75—cm?
7
2
752 T2

Correct Answer:

2
50—cm?
2
502 TP

Candidate Answer:

2
50—cm?
7

2
502 pipsip

QID : 865 - A solid sphere of radius 3 cm is melted to form a hollow right circular cylindrical tube of length 4 cm and external radius 5 cm. The thickness of the tube
is

3 8.7 BT aTe v o dierds it gee 4 .. a5 U @I o d g SR g aels 15 & AR 3adr arer Fan 5 @.41. &1 30 Tg@ &1 Aers aasv|
Options:

1)1cm

1337

2)9cm

9 ..

3)0.6cm

0.6 &3

4)1.5cm

1.58.4.

Correct Answer: 1 cm
1337

Candidate Answer: 1 cm
1330
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QID : 866 -

If 52 +% =gg (x > 0}, then the value of +2 +é is

Ui x?+5=98 (x>0) Bl x +; BIHAM SAZE

Options:

1) 970

2) 1030

3)-970

4) -1030

Correct Answer: 970

Candidate Answer: 970

QID : 867 -
|fa+11,?:13”d b+%:1,then the value of c+§ is

UCa+l=1MRb+1=1R Fc+l FIATFEM?

Options:

1)0

2)2

3)1

4)3

Correct Answer: 1
Candidate Answer: 1

QID: 868 - If x = y + 2 then x3- y3- 23 is

I x =y + 2 @3- y3- 23 & A TaE|

Options:
1)0

2) 3xyz
3) -3xyz

4)1
Correct Answer: 3xyz
Candidate Answer: 0

QID : 869 -
Ifa+b+c+d=4then the value of
3 L 1 1 1

R e b ——— 5
(1-a)1-b)1-c) (A-b)(1-c)1-d) (1-c)1-dj{1-a) (1-d)(1-a)(1-b)

Hﬁa+b+c+d:4€1ﬁ-—ﬁ
1 1 + 1 1

(1-a)(1-b)(l-c) (1-byl-c)(i-dy = (1-c)(1-dyi-=) (1-d)(1-a)(1-b)

&1 A Fa5U|

Options:

1)0

2)1

3)4

4) 1+ abcd

Correct Answer: 0

Candidate Answer: 0

QID : 870 -
."_— ."_ ) &
The simplified value of Lo %x V2 -%x V27 isclosest to

V1Z - 18

VI -

Z 1 1y
o~ 3 X V27- 5 x V27 BIWligd HareaH AF S
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Options:

1) (V3-1)

2) (1-V3)

3)-(-V3-1)

4)- (V3 +1)

Correct Answer: - (V3 +1)
Candidate Answer: (1 - V3)

QID : 871 - If x = 11, the value of x° - 12x* +12x3 - 12x2 + 12x- 1 is

FREx = 118 arx® - 12x + 123 - 12%2 + 12X - 1 & AT ad18T]
Options:

1) 11

2) 10

3)12

4)-10

Correct Answer: 10

Candidate Answer: 10

QID: 872 -

1 i (0
Ifa 5 (a > 0], then the value of 4 + : Is

gita=-"(a>0)8ldla+ 1 1 {71 SITT?

a->

Options:

1) V29

2) V29

3)- V29

4) V27

Correct Answer: V29

Candidate Answer: V27

QID: 873 -

1 1 1
If a+ B =b+ —=c+ — (wherea# b # c),then abc is equal to
c a

UG a+ f=b+-=c+ 2 (WEla+b=c), abc HTD TR 7?2

C

Options:

1)+1

2)-1

3)+1&-1

4) None of the options
faemeul # & FI$ A&

Correct Answer: +1 & -1

Candidate Answer: - 1

QID: 874 -

Ifax+by=1and bx+ay = then (x*+ y?)(a’+ b?) is equal to

2ab
a’+b?
UG ax+by=1 3‘h?bx+ay=%_bpf?ﬁ 2+ v (@2 + bz)ﬁ)_\‘:lai
TR 82

Options:

1)1

2)2

3)0.5

4)0

Correct Answer: 1
Candidate Answer: 1
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QID : 875 - If X, y, z are the three factors of a3-7a - 6, then value of x+y+z will be

T a3-7a - 6 & Nl UGS x,y,z &, A x+y+z B HF g2

Options:

1) 3a

2)3

3)6

4)a

Correct Answer: 3a
Candidate Answer: 3a

QID : 876 - ABCD is a cyclic quadrilateral of which AB is the diameter. Diagonals AC and BD intersect at E. If 2DBC = 35°, Then 2AED measures

ABCD Teh sy Tefot & fora cama AB 1 AC 3R BD faresu E fieg TR @redt §1 A& 2DBC = 35° @1 @Y LAED &1 #1T gam

Options:
1) 35°

2) 45°
3) 55°

4) 90°
Correct Answer: 55°
Candidate Answer: 45°

QID : 877 - In a triangle ABC, A = 70°, B = 80° and D is the incentre of AABC. 2ACB = 2x° and «BDC = y°. The values of x and y, respectively are

T 39T ABC 3 2A= 70°, £B= 80° 3X D, AABC &T 37eld: &g &1 2ACB=2x° T BDC= y° ¥ x 3 y &1 shaAM: AT BN

Options:
1) 15, 130

2) 15, 125
3) 35, 40

4) 30, 150
Correct Answer: 15, 125

Candidate Answer: 15, 125

QID : 878 - In a right angled triangle ADEF, if the length of the hypotenuse EF is 12 cm, then the length of the median DX is

T FHABIOT ST ADEF 3 Ife; ot EF &Y orars 12 .37, § ar anfeae (#ifzaeT) DX & erars el
Options:

1)3cm

33

2)4cm

433,

3)6cm

6 9.3,

4) 12 cm

12 3.4

Correct Answer: 6 cm
6 7.3,

Candidate Answer: 6 cm
6 T.3m.
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QID : 879 - Two equal circles intersect so that their centres, and the points at which they intersect form a square of side 1 cm. The area (in sg.cm) of the portion
that is common to the circles is

2 HATA /IR Teh-GEY Bl 38 ALE HIed & T 3T dheg A 3R 57 faeg W A shred § agl 1 9.3, 3T o1 Ueh aof qe7alr ¥, a8 7T S &t gt F Fafaws §, saa

&l (a9 8.3, ) gem

Options:
1)

N

2)

3)

wl A

4)

(v2-1)

Correct Answer:

TT
- -1
2

Candidate Answer:

(V2-1)

QID : 880 - PQRA is a rectangle, AP = 22 cm, PQ = 8 cm. AABC is a triangle whose vertices lie on the sides of PQRA such that BQ = 2 cm and QC = 16 ¢cm .Then the
length of the line joining the mid points of the sides AB and BC is

PQRA T&F I &, AP = 22 &.71., PQ = 8 §.7. ¥| AABC Tsh FI3<T & forad eif PQRA &1 <3 IR 8 ae & ferd & fo BQ=2 &.71. 3R QC = 16 &.#. ¥1 AB 3R
BC 9faT3il & aey fegai wX frea) arell Yar i orears i
Options:

1) 4/2 cm

42 3.7,

2)5cm

5 3.3

3)6cm

6 T.3fm.

4) 10 cm

10 &3

Correct Answer: 5 cm

5 3.3

Candidate Answer: 4v2 cm

42 3.7,

QID : 881 - AABC is an isosceles right angled triangle having ~C = 90°. If D is any point on AB, then AD?+ BD? is equal to

NABC Teh waifgarg aaaior fggst & fat £C = 90° ¥ afE AB WX D vah fareg (dfeeie) ¥, @ AD? + BD? forerds et &2

Options:
1) CD?
2) 2CD?
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3) 3CD?
4) 4C0?

Correct Answer: 2CD?
Candidate Answer: 2CD?

QID : 882 - D and E are points on the sides AB and AC respectively of AABC such that DE is parallel to BC and AD:DB = 4:5, CD and BE intersect each other at F.
Then the ratio of the areas of ADEF and ACBF

AABC & J=T131T AB 3R AC WX D 31K E f3=g 38 UshR & Tw 1w & o DE, BC & WA= & 3k AD:DB = 4:5 ¥ CD 3R BE, F fireg WX weh g@X &l @it &1 ADEF 3R
ACBF & &1l &l 3euTd adizu |

Options:
1) 16:25

2) 16:81
3) 81:16

4) 4.9
Correct Answer: 16:81
Candidate Answer: 16:81

QID : 883 - Diagonals of a Trapezium ABCD with AB I CD intersect each other at the point O. If AB = 2CD, then the ratio of the areas of AAOB and ACOD is

T garea (Sdiferer) ABCD 3 AB I CD # 3iR Repot fieg O oX weh gy @t diedt §1 I AB=2CD &1 df AAOB 311X ACOD & &19thell &7 31IdTel &RT B1aT?
Options:

1) 4:1

2) 1:16

3) 1:4

4) 16:1
Correct Answer: 4:1
Candidate Answer: 4:1

QID : 884 - If O is the orthocentre of a triangle ABC and «BOC = 100°, the measure of 2BAC is

afe P81t ABC &1 i dhegs O & TAT £BOC = 100° %, AT £BAC &I AT IS

Options:
1) 100°

2) 180°
3) 80°

4) 200°
Correct Answer: 80°
Candidate Answer: 80°

QID : 885 - PQ and RS are common tangents to two circles intersecting at A and B. AB, when produced both sides, meet the tangents PQ and RS at X and Y,
respectively. If AB = 3 cm, XY =5 cm, then PQ (in cm) will be

PQ 31X RS & el i @dfers Tt @i ¥ St A 3R B 0T Uh-g@Y &Y e §1 At ol (35T) AB T@T &Y T@i TR a5 AT X 3R Y fieg ) wued f@mw pQ 3RS WX

o €1 7 AB = 3 4.3, XY = 5 3. &I, v gase % PQ fha=r @&, gem?

Options:
1)3cm
38
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2)4cm

433,

3)5cm

5 8.4

4)2cm

234

Correct Answer: 4 cm

433,

Candidate Answer: 4 cm

4 9.0

QID : 886 - If secA +tanA = a, then the value of cosA is

7 secA +tanA = a & dl cosA &1 HIT BH?
Options:
1)
a?+1
2a

2)

2a
at+1

3)

al—1

2a

4)

2a
a?—1

Correct Answer:

2a
a’+1

Candidate Answer:

af+1

QID : 887 - If sin P + cosec P =2, then the value of sin” P + cosec’P is

& sin P + cosec P = 2 &, @l sin’ P + cosec’ P &l e &1 ?

Options:

1)1

2)2

3)3

4)0

Correct Answer: 2
Candidate Answer: 2

QID : 888 - If cosx.cosy + sinx.siny = -1 then cosx + cosy is

Ife cosx.cosy + sinx.siny = -1 &, AT cosx + cosy & HATA B ?

Options:
1)-2

2)1
3)0

4)2
Correct Answer: 0
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Candidate Answer: -2

QID : 889 - The value of the expression 2(sin®8+cos®0)-3(sin*0+cos*0)+1 is

ot 2(sin®9+c0s%0)-3(sin0+cos*0)+1 @1 AT Bm?
Options:

1)-1

2)0

3)1

4)2
Correct Answer: 0
Candidate Answer: 0

QID: 890 -
_xz
xE

If cosl =

:r:”; then the value of cotB is equal to [ If 0 = 6 =907

T cos = L2 BTl cotd P A e SRIR G2 [ AR 0 <0 <
90°] ;

Options:
1)

QID : 891 - The distance between two pillars is 120 metres. The height of one pillar is thrice the other. The angles of elevation of their tops from the midpoint of the
line connecting their feet are complementary to each other. The height (in metres) of the taller pillar is (Use : V3 = 1.732)

A GHAT & e B glr 120 A, ¥ U wAN Y S qEy @ Aol ¥ AT @HHAT b ITUR g3 Y Ao arel Tam & #AqT RAg & 37 Ml & 57T Bror Ueh-g@
FR@ &l TS AN A a5 (AL 7) Jad| (T R : V3 = 1.732)

Options:
1) 34.64

2) 51.96
3) 69.28

4) 103.92
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Correct Answer: 103.92
Candidate Answer: 69.28

QID : 892 - If x = cosech - sind and y = sech - cosB, then the relation between x and y is

Ife & x = cosech - sind 31X y = sech - cosd &, AT x 3R y & g Faa=w g
Options:

1) x>+ y2+3 =1

2) xzyz(x2+ y2+3)=1

3) x2(x%+ y%- 5)=1

4) Y02+ y%- 5)=1

Correct Answer: x2y2(x2+ y2+3)=1

Candidate Answer: x2y2(x%+ y2+3)=1

QID : 893 - A hydrogen filled balloon ascending at the rate of 18 kmph was drifted by wind. Its angle of elevation at 10th and 15th minutes were found to be 60° and
45° respectively. The wind speed (in whole numbers) during the last five minutes, approximately, is equal to

18 fop.#fY. G € 1 &7 § SO &Y 3T 33T G BSZIoTT F 3 T3 IeaRT Tall A SER-3ER & IAT| 10-d fHeTe 3R 15-d Hete o3 @ 7127 o6 SHeT SeeT gl ot sheral:
60° AT 45° 7| et ura et & et gar & arfer (qot FEar ) T = g
Options:

1) 7 km/hr

7 5.3, /ger

2) 11 km/ hr

11 fp.aY./ger

3) 26 km/hr.

26 for. &Y. /g

4) 33 km/hr

33 fop.aft./Eer

Correct Answer: 33 km/hr

33 for. Y. /Eer

Candidate Answer: 11 km/ hr

11 T, /ger

QID : 894 - The angle of elevation of an aeroplane as observed from a point 30 m above the transparent water-surface of a lake is 30° and the angle of depression
of the image of the aeroplane in the water of the lake is 60°. The height of the aeroplane from the water-surface of the lake is

el &1 IR STor-Harg @ 30 Al FW frdT g @ dwa u¥ fonell argaret &t et whior 30° famar & 3R giiel & urelt & argane & ufdfae &1 3raeere T 60°
fe@ar ¥ argara & shia 6 Fel ade ¥ Sar$ a7 aef?
Options:

1)60 m

60 #HeX

2)45m

45 e

3)50m

50 #Hrex

4)75m

75 #Hex

Correct Answer: 60 m
60 #HeX

Candidate Answer: 60 m
60 #Hrex

QID : 895 - The angles of depression of two ships from the top of a light house are 60° and 45° towards east. If the ships are 300 m apart, the height of the light
house is

TRl gepTer T & M ST I & UieAT & 31T ioT g Y HIR 60° 3R 45° ¥ IS ot TwER 300 X H gl I, AT Ueper T Y Fars adeu?
Options:

1) 200(3+V3) meter

200(3+V3) #Hex

2) 250(3+V3) meter

250(3+V3) #Hiex

3) 150(3+V3) meter

150(3+v3) #ex

4) 160(3+V3) meter

http://thepracticetest.in/csdecjan17/resﬂo)|€;b\_k1 Iﬁabﬁirhdle(_) H@MHI&W&HJMdMﬂWWSGM&d@B&BSS@\ lert.In 26/30



1/24/2017 Download More Papersaifsesaiovcammisionovt]obsAlert.In
160(3+V3) #leX
Correct Answer: 150(3+V3) meter
150(3+v3) X
Candidate Answer: 150(3+V3) meter
150(3+v3) e

QID : 896 -

The following Bar-diagram shows total number of males and females in
five different organisations. Study it carefully to answer the questions.

Uid A% YTIe11 H Ueul 3R Afgeel &1 68 &1 i ard 74

TR-3G Bl AHYdD T ULl & Fa iferg|
|j.j|M3|E'|”IF¥ Female,-’qﬁaﬁ
T 5500
_
E .
§ 17
£
|17 17
H A B 3

Organisation | B8 ——p

What is the difference between the total number of females and the total number of males from all the organisations together?

G GITSAT H ATRATIHT &Y ol TWAT FAT THUT BT Fol FEAT T A HAT &2
Options:

1) 2005

2) 2050

3) 2500

4) 2055
Correct Answer: 2500
Candidate Answer: 2055

QID: 897 -
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The following Bar-diagram shows total number of males and females in
five different organisations. Study it carefully to answer the questions.

ufa fafiy= YereH § gt ofR afgansif ot Tem o g gk =
TR-3RE DI BAYGD TgH WH! B IR il

e 55 e/

mumber of people / e af e ——
- BB . 2

’ |
A f L | E
Organisation | BTE ——p

By how much percentage is the average number of females from all the organisations together is more than the number of males in organization 'D'?

Foft GoraaT H AT Y 3NTT FEIT G5 ‘D' H T Y FEAT v gfaerd 31w 82
Options:

1) 30%

2) 38%

3) 40%

4) 45%
Correct Answer: 40%
Candidate Answer: [ NOT ANSWERED ]

QID: 898 -

The following Bar-diagram shows total number of males and females in
five different organisations. Study it carefully to answer the questions.

Uid fafiy=1 a1 # gl ol Afgensd &1 W &I g2 ard fe
AR -3RE DI HAYGD UG U= B Iux aifel|

i wale | o 7 retiste et

-5 BEEHEEBEBEEEE

rumber of people / oo aft dhom ——

Fa |
A B C D E
Organisation | ETE ——p

What is the ratio of the number of females from the organisations B and C to the number of males from the organisations D and E?

a1 B 3R C &Y ATGn3it &y HEaT & st D 3R E & TouT B FGAT § HUTT =T &2
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Options:
1)12: 11

2)12: 15
3)11:15

4)15: 11
Correct Answer: 15: 11
Candidate Answer: 15 : 11

QID: 899 -

The following Bar-diagram shows total number of males and females in
five different organisations. Study it carefully to answer the questions.

it R YTaH 3 Gt ok Aol o T @t e ar e

AR-IHNE & LFYdD Ggdh WA & JuR S|
|:_:|Male.fl1ﬂ Fzmale.-'ﬂﬁ?ﬁﬁ

; .

g -l

E : I

§ : II

5 firg

H B c

Organisation] BTE ——

Males from organisations A and B together form what percent of total number of males from organisations C, D and E together?

A 3R B Haraa1 & el U T H&AT, C, D 31X E HI1ae1 & ol GEUT h HEAT T fobetalr ufaere 22

Options:
1) 78.04%

2) 87.44%
3) 47.08%

4) 74.08%
Correct Answer: 78.04%
Candidate Answer: [ NOT ANSWERED ]

QID : 900 -
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The following Bar-diagram shows total number of males and females in
five different organisations. Study it carefully to answer the questions.

ufa A= WereH § gt ofR afgansif o Ten o g g =
TR-3RE DI DAYGD gD WH! B I aifeil|

e 55 e/

mumber of people / e af e ——
- BB . 2

VA |
A f L | E
Organisation | BTE ——p

What is the ratio of average number of females from the organisations A, B and C to the average number of males from the organisations C, D and E?

Harsd A, B 3R C & AR &1 3iad F&a1 & §eraeT C, D 3R E & GwuT &1 3ad &A1 & AU HAT 82
Options:
1)42: 41
2)41:42
3)40: 41
4)41: 40

Correct Answer: 42 : 41
Candidate Answer: 41 : 42
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